Who is Going to Baker Street?

Five taxi drivers are called to a pub to pick up five fares. On arrival they find that their passengers
are incoherent and the worse for drink. The drivers are unable to determine who is who and who
is going where? They would be grateful for your help. Fortunately each man has a different first
and last name, a different profession, they live in different streets and their wives have different
first names. We have collected a number of facts from the passengers, it is your task to
determine the answers to the questions below.

Questions

. Who is the baker?

. What is Bert's last name?

3. Who is going to Baker Street?
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Facts from the Passengers

. Brad is married to Betty.

. Barbara's husband gets into the third taxi.

. Bart is a banker.

. The last taxi goes to Barton Street.

. Beatrice lives in Burton Street.

. The butcher gets into the fourth taxi.

. Bob gets into the second taxi.

. Bernice is married to the broker.

. Mr Barker lives in Burton Street.

. Mr Burger gets into the taxi in front of Brenda's husband.
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Mr Bunger gets into the first taxi.

Mr Baker lives in Burbon Street.

The barber lives in Barker Street.

Mr Baker gets into the taxi in front of Mr Burke.
The barber is three taxis in front of Brian.

Mr Burger is in the taxi in front of the butcher.



Facilitator's Notes

Below is the solution grid and the answers
There is more than one way to solve this puzzle, the solution is
just one possible way!!

The Solution
Taxi
1 2 3 4 5
Surname Mr Bunger Mr Barker Mr Burger Mr Baker Mr Burke
First name Brad Bob Bart Brian ? answer 2
Wife Betty Beatrice Barbara Brenda Bernice
Job Barber ? answer 1 Banker Butcher Broker
Street Barker St Burton St ? answer 3 Burbon St Barton St
Taxi 1 2 3 4 5
Mr Bunger Mr Barker Mr Burger Mr Baker Mr Burke
1M1 9 16 14 12/14
Brad Bob Bart Brian ? Answer 2.
7 3 15
Betty Beatrice Barber Brenda Bernice
5 2 10 8
barber ? Answer 1 banker butcher broker
15 3 6 8
Barker St Burton St ? Answer 3 Burbon St Barton St
13 9 12 4

Order of clues;

2,4,6,7,11, 16, 10, 14, Answer 3, 9, 12, 13 (see 15), 15, 5, 8, 1, 3, Answer 1, Answer 2.

Therefore;

1. Mr Barker is the baker.
2. Bert is Mr Burke.
3. Mr Burger is going to Baker Street.



